21.09

78810352

CLOSER MOUNTED ON

Al

ASSEMBLE MAIN ARM TO CLOSER 45" AWAY FROM
DOGR AS ILLUSTRATED BELOW. ATTACH ARM WITH
WASHER AND SCREW

ATTACH GLOSER TO DQOR WITH SHORT END OF
CLOSER FACING TOWARD HINGE.

INSERT SUDER OF ARM INSIDE TRACK RAIL AS
ILLUSTRATED BELOW.

_TRACK RAIL

C|

ASSEMBLE END CAPS ON BOTH ENDS OF TRACK RAIL.
ATTACH TRACK RAIL ON FRAME WITH SCREW.

FRAME (LONG END OF CLOSER TOWARD HINGE ).

INSTALLATION INSTALLATION CLOSER MOUNTED ON RYOBI
PULL SIDE OF DOOR
INSTRUCTIONS TRACK RAIL APPLICATION WITH TRACK RAIL ON FRAME INSTRUCTIONS HEAVY DUTY PARALLEL ARM APPLICATION PUSH SIDE OF DOOR DOOR CLOSE R
LEFT HAND DOOR LEFT D DT AIGHT
RIGHT HAND DOOR HAND DOOR _ . — T~ =~ = I~ - _HAND DOOR é\
LLUSTRATED. PUSH SIDE PUSH SIDE ILLUSTRATED. Rz b == Al D-3550 AND D-3551 [} INSTALLATION INSTRUCTIONS
SAME DIMENSIONS ig"P"LEY ?gs“;‘g:? HAND o - PULLSIDE | | PULLSIDE ™~~~ o
APPLY FOR LEFT HAND O e —0
oo HEASURED Tz _PULLSIDE | @ PULL SIDE _ -~ DOOR - MEASURED FROM EE PUSH SIDE PUSH SIDE {’ SELECT PROPER APPLICATION FROM ILLUSTRATIONS BELOW. THEN
FROMHINGE . RIGHT T Im e T T LEFT .
HAREHT oR B P HANE T oR 4420 Lt 2" coMERAON i FOLLOW INSTALLATION INSTRUCTIONS ON GIVEN PAGE.
B o X e
G R NG SCREW SRR STANDARD APPLICATION PARALLEL ARM TOP JAMB TRACK RAIL
HOLD-OPEN DEVICE i [Fi 338" G 7| A b APPLICATION APPLICATION APPLICATION
i 2 3l R |
HOLD-OPEN ANGLE 108" 87" 81" 2-1/8", :
TS -
; ——
(! Y 1 7 ) [
2-%12-24 MACHINE SCREW, )
#12 TAPPING SCREW
P GR ®4.8 SELF DRILLING TAPPING SCREW l A 11420 L|:=23 1/2;P’;¢\Q§Hslgs SCREW,
= Al
1-374” ; 20-1/4" / HOLD-OPEN MAX.OPENING 1 OR ®6 SELF DRILLING TAPPING SCREW CLOSER MOUNTED ON FRAME gbffsgsnzogggg%gN
i N DM ANGLE STOP ANGLE ANGLE | €. OF HINGE PIVOT CLOSER MOUNTED ON CLOSER MOUNTED ON  USE PAGES ON PUSH SIDE OF DOOR WITH TRACK-AAIL ON FRAME
‘ © ENSION on FOR FOR ) PULL SIDE OF DOCR USE PAGE2 | PUSH SIDE OF DOOR  USE PAGE & (EDA)} USE PAGE 4 USE PAGE 5
o 2 HOLD-OpEN | WITHSTOP | WITHOUT i - - -
|8 - r ' | FrRave A | & | wooms | MopES | &g e l o ADJUST SPRING POWER ACCORDING TO CHART
” - —— = 11-1787] 4-378” as5° a5° *ﬁg;s 4 . % (FOR STANDARD, PARALLEL ARM. AND TOP JAMB APPLICATIONS}
. 16 ] -
[l @ ! z 10-1/27] 3-3/4" 1 90" g0° *1188_]_5 ;F 1 :\ﬂ REFER TO PAGE 6 FOR TRACK RAIL APPLICATION
| LIS W M
. { DOOR . N ° HE . Tumns of Spring Adjusting Nut
& s-a/8” | 2-5/8” |  100° 100° 120 e . ADJUST SPRING POWER FOR \ax. Door Width Closi
_____ = ~ / 4 anote | Y 41224 Lot/ MAGHINE SCREWT DOOR WIDTH AS INDICATED Closer bl 5-3550 b-3551 g
: . 2-5/16" 8-1/4" [1-1/2"| 110° 110° 160° B 11-1/8” #12 [=1-1/2" TAPPING SCREW IN CHART.TO INCREASE size Exterior Interior from from from from (N-30"
5-9/16” 118 - *NOTE OR ®4.8 SELF DRILLING TAPPING SCREW CLOSING POWER, TURN SPRING Preset | Minimum | Preset | Minimum
1o Py 27/167 #NOTE : A SUPPLEMENTAL DOOR STOP IS ALWAYS RECOMMENDED FOR INSTALLATIONS NOT INCORPORATING A STOP IN THE ADJUSTING NUT CLOCKWISE. LI _|tess than 28 -2 0 9.5
CLOSER ARM, DAMAGE TO THE DOOR, FRAME AND CLOSER MAY OCCUR UNLESS STOP IS USED. 2 |lessihan2'6 2'8 -3 S} -1 2 14.7
3 2'8" 32" -1 2 1 4 23.2
N AJ 1. MARK LOCATIONS OF ATTACHING SCREWS E] MOUNT CLOSER ON DOOR AND MOUNT PARALLEL z 36 BES B 5 5 B 107
ON DOOR AND FRAME AS SHOWN ABOVE. BRACKET TO FRAME STOP AS PER TEMPLATE. 5 36 0 4 7 50.9
2. ATTACH CLOSER TO DOOR AND PARALLEL BRACKET TO SPRING ADJUSTING NUT s 40 50 7 10 69.0

ADJUST AND REGULATE DOOR CLOSER AS DIRECTED
AT PAGE 1

3

INSTALL COVER, AS FOLLOWS:

ALIGN COVER OPENINGS WITH THE CLOSER
SPINDLE, AND SNAF ENDS OF COVER INTO
POSITION OVER CLOSER

(NSERT (S REMOVABLE
PLACE IN UNUSED
QPENING

cover

ADJUST SPRING POWER ACCORDING TO CHART FOR TRACK RAIL APPLICATION

_BJ ASSEMBLE MAIN ARM TO CLOSER WITH INDEX
MARK ON END OF SPINDLE 45° FROM AXIS OF
ARM, AS ILLUSTRATED BELOW, USING A WRENCH
ON THE BOTTOM SPINDLE TOC ROTATE SPINDLE
INTO POSITION. ATTACH ARM TO SPINDLE

WITH WASHER AND SCREW.

INDEX MARK
ON SPINDLE

O]

ADJUST AND REGULATE DOOR CLOSER AS DIRECTED

ON PEGE 1 FOR SPEED, LATCHING ACTION, BACKCHECK,

AND DELAYED ACTION.

CAUTION : BACKCHECK IS ESSENTIAL TO PREVENT
ARM FROM STRIKING ARM STOP WITH IMPACT.

FINAL ADJUSTMENT AND REGULATING PROCEDURES

E]

INDEX MARK
ON SPINDLE

PARALLEL BRACKET

INSTALL COVER AS FOLLOWS:

INSERT 1S REMOVABLE
PLACE N UNUSED OPENING

\ ALIGN COVER OPENINGS WITH THE CLOSER
SPINDLE, AND SNAP ENDS OF COVER INTO
COVER POSITION OVER CLOSER

FOR HOLD-OPEN ARM:A QUARTER TUBN ON THE

REGULATING DOOR SPEED AND LATCHING SPEED ADJUSTING FOOT FOR ADDITIONAL

CLOSING POWER
TURN SOCKET SCREW CLOCKWISE TO SLOW DOWN-—CR
COUNTER - GLOCKWISE TO SPEED UP DOOR MOVEMENT.

LESS POWER MORE POWER

THIS VALVE CONTROLS
DOOR SPEED

1/8" HEX SOCKET
WRENCH

HINGE EDGE OF DOOR

THIS VALVE CONTROLS
LATCHING SPEED

STANDARD POSITION

CONTROL HANDLE WILL ENGAGE OR
DISENGAGE THE HOLD-OPEN FUNCTION.

PAGE

6

closer Max. Door Width Z‘;fﬂ;f’;gsﬁﬁ‘fg
size ) ) from from
Exterior Interior Preset Minimum
1 ——— less than 2° 87 -3 Turns 0
2 less than 26" 2°8” [ +3 Turns
3 2'6" 3’2" +6 Turns +8 Turns

as indicated in chart.

= D-3550T:(dentical closer can be used as Standard, Parallel Arm, and Top Jamt

Spring power is

PAGE

5

FOR MODELS HAVING “DELAYED ACTION”

“DELAYED ACTION" IS OBTAINED 8Y OPENING DOOR INTO
THE DELAYING RANGE, AS SHOWN. UPON RELEASE. THE
DOOR TRAVELS SLOWLY THRU THE DELAYING BANGE THEN
CONTINUES AT REGULAR SPEED IN THE NORMAL
RELEASE RANGE UNTIL CLOSED. THE NORMAL RELEASE

RANGE IS APPROXIMATELY 70°

REGULATING BACKCHECK

THE INTENSITY OF BACKCHECK ACTION 1S REGULATED
BY VALVE SHOWN, TURN CLOCKWISE TO INCREASE —OR
COUNTERCLOCKWISE TO DECREASE CHECKING.
CAUTION: SET VALVE FOR A SLIGHT CUSHIONING EFFECT.
IT 1S DAMAGING TO THE CLOSER IF THE CHECKING ACTION
1S TOO ABRUPT. BACKGHECK SHOULD NEVER BE USED IN
LIEU OF A DOOR STOP.

\4/8" HEX SOCKET
WRENCH
THIS VALVE CONTROLS DELAYED
ACTION. TURN SOCKET SCREW
CLOCKWISE TO SLOW DOWN OR
COUNTER -CLOCKWISE TO SPEED
UP DOOR MOVEMENT.

1/8” HEX SQCKET
WRENCH

THIS VALVE CONTROLS
BACKCHECK

DELAYING
RANGE

PAGE

1




INSTALLATION

PIVOT-AWAY FROM HINGE

LEFT_HAND
DOOR SHOWN

HINGE EDGE
oF booR

LEFT HAND
DOOR SHOWN

ADJUST AND REGULATE DOOR CLOSER
AS DIRECTED AT PAGE 1.

F]

INSTALL COVER, AS FOLLOWS:

<

ASSEMBLE MAIN ARM TO CLOSER WITH
INDEX MARK ON SPINDLE ALIGNED WITH
AXIS OF ARM AS ILLUSTRATED BELOW.
ATTACH ARM WITH WASHER AND SCREW.

1
m RIGHT HAND DOOR
[¢]

T—@rs

q

[[—ROD* RiGHT

ANGLE
e
POSITION OF L.
MAIN ARM WHEN INDEX MARK
ASSEMBLING
TO SPINDLE ON SPINDLE

PR SO

ALIGN COVER OPENINGS WITH THE CLOSER
SPINDLE, AND SNAP ENDS OF COVER INTO
POSITION OVER CLOSER

L
e
{q — 2]

| U_ﬁ\

COVER

INSERT IS REMOVABLE
PLACE IN UNUSED OPENING

PAGE

ASSEMBLE MAIN ARM TO CLOSER WITH INDEX
MARK ON END OF SPINDLE 45° FROM AXIS OF
ARM, AS ILLUSTRATED BELOW, USING A WRENCH
ON THE BOTTOM SPINDLE TO ROTATE SPINDLE
INTO POSITION. ATTACH ARM TO SPINDLE

WITH WASHER AND SCREW.

INDEX MARK _( &0}
ON SPINDLE

INDEX MARK
ON SPINDLE

LOCKNUT ROD

I

PARALLEL BRACKET

D]

ADJUST AND REGULATE DOOR CLOSER
AS DIRECTED AT PAGE 1

PIVOT-AWAY FROM HINGE

HINGE EDGE OF DOOR

HINGE EDGE
OF DOOR

RIGHT HAND
DOOR SHOWN

]

INSTALL COVER AS FOLLOWS:

INSERT IS REMOVABLE
PLACE IN UNUSED OPENING

f&%

ALIGN COVER OPENINGS WITH THE CLOSER

SPINDLE, AND SNAP ENDS OF COVER INTO
PQOSITION OVER CLOSER

—

COVER

CLOSER MOUNTED ON INSTALLATION CLOSER MOUNTED ON INSTALLATION CLOSER MOUNTED ON FRAME
INSTRUCTIONS STANDARD APPLICATION S MOUNTED O INSTRGEATION, PARALLEL ARM APPLICATION STOP SIDE OF DOOR INSTRUCTIONS TOP JAMB APPLICATION ON PUSH SIDE OF DOOR
RIGHT HAND DOOR LEFT _-1 - RIGHT LEFT HAND _ N RIGHT HAND
ILLUSTRATED, PUSH SIDE PUSH SIDE [[I LEFT HAND DOOR HANDDOOR ___ —— =~ ' =z 1=~ _ HANDDOOR ovENSION] HAXIMUN DOOR OPENING T HAND DOOR DOOR __--=Z3 Fz=_ DOOR
s — e SAME DIMENSIONS ==~ "PULL SIDE | ’ PULL SIDE ~~ <=~ 120° 180° SAME DIMENSIONS et [ ST~
APPLY FOR LEFT ““ND O™~~~ _ PULLSIDE ! ! PULL SIDE__—=Z-7"0 AP AND o —_ — e a - P APPLY FOR LEFT HAND o ——T— PULLSIDE | . PULLSIDE ~~<—_ o
?;?83 Hn:‘GEé\é_ REo RIGHT ~—ST~_ f \ T o DOOR — MEASUREDAFHOM Dj- PUSH SIDE PUSH SIDE ED 5 = peyY DOOR—MEASURED FROM E:'i & =) {I
HAND DOOR BTl HANDDOOR |1y | AXIMUM DQOR OPENING HINGEQ. 41224 MAGHINE SOREV) HiNGER PusH Sioe PusH SIE
120° 180" #12 TAPPING
2-#12-24 MACHINE SCREW, . e - A 3- OR b SELF DRILLING TAPPING SCREW
& OF HINGE PIVOT #12 TAPPING SCREW A 11-5/8 9-5/8 R PasELEORILUNG TAPPING SLRER
*7 OR ®6 SELF DRILLING TAPPING SCREW B PeyG ey 5776 /
! 3/4" 8 11-1/8” !
T A 5‘ o ‘o — °—‘l . , 41224 MACHINE SCREW, [ I |
8 ! = - u #12 TAPPI REW e
2 ! N by P
::! B 3| ' W a0 SR bu 8 SELF DRILLING TAPPING SCREW [ | pinl o
[} 1 | ! o = b
Q | l LI |
g i @ | 1 o B L)‘ & :
o = =
w - ‘o e T
¢ M A 21 SH | @OF HINGE PIVOT & <l . — !
% sl &7 o -6~ H
I 8 11-1/8" ’ MAXIMUM DOOR OPENING 1-3/47 8
4-312:24 MACHINE SCREW, FRAME N 412 | !
11-15/16" #12 TAPPING SCREW | DIMENSIO 120" 180" “%1#21 A24 %ACH'NEE\SNCREW 1 : i
r OR 4.8 SELF DRILLING TAPPING SCREW Y I TS i OR 6 SELF DRILLING TAPPING SCREW- '
H @OF HINGE PIVOT !
—- | . NS0 S i - S B 1156 | sl
3
1 o - D‘J
,_A_J 1. MARK LOCATION OF ATTACHING SCREWS ON DOOR AND 2‘ TIGHTEN LOCKNUT SECURELY WHEN ROD IS AT RIGHT | . | He =) A_' 2‘
FRAME AS SHOWN ABOVE. ANGLE TO DOOR. SEE ILLUSTRATION BELOW. 2 i
2. ATTACH CLOSER TO DOOR WITH SHORT END ° DOOR eI ' ol 1. MARK LOCATION OF ATTACHING SCREWS ON DOOR TIGHTEN LOCKNUT SECURELY WHEN ROD IS AT RIGHT
" OF CLOSER FACING TOWARD HINGE. m . Jf & s 512,24 MACHINE SCREW, AND FRAME AS SHOWN ABOVE. ANGLE TO FRAME. SEE ILLUSTRATIONS BELOW.
LEFT HAND DOOR
_B_] ° & i s 118" OR 4.8 SELF DRILLING TAPPING SCREW 2. ATTACH CLOSER TO FRAME WITH SHORT END OF CLOSER .
ATTACH FOOT TO FRAME WITH PIVOT AWAY TG [ ; T FACING TOWARD HINGE. RIGHT FAND DOGR
FROM HINGE AS ILLUSTRATED BELOW. L h J 1 aga 5 i e
RIGHT A C ATTACH FOOT TO DOOR WITH PIVOT AWAY FROM VIEW LOOKING UP
PIVOT-AWAY FROM HINGE E: FOOTMAY BE ANGLE HINGE AS ILLUSTRATED BELOW. WHEN ASSEMBLING
ADJUSTED FOR ADDITIONAL 1. MARK LOCATIONS OF AT TACHING SCREWS ON IF FOOT ASSEMBLY SHOWN ON PAGE 21S PACKED WITH CLOSER, ARM TO SPINDLE
. CLOSING POWER. (SEE PAGE 1). DOOR AND FRAME AS SHOWN ABOVE. CONVERT TO FOOT BRACKET ASSEMBLY SHOWN ABOVE AS FOL- PIVOT-AWAY FROM HINGE
HH POSITION OF ) LOWS: REMOVE ROD ASSEMBLY FROM FOOT AND ATTACH ROD TO .
w12 | MAIN ARM WHEN PARALLEL BRACKET USING WASHER AND SCREW SHOWN. O N Y BE ADJUSTED
2l moHT HAND ASSEMBLING 2. ATTACH CLOSER TO DOOR AND PARALLEL BRACKET TO TIGHTEN LOCKNUT SECURELY WHEN END OF MAIN ARM IS ooans . Igﬁ&;;xé&(
H DOOR SHOWN o SPINDLE FRAME (LONG END OF CLOSER TOWARD HINGE). POSITIONED 1-12° AWAY FROM DOOR.

TO SPINDLE

E]

ADJUST AND REGULATE DOOR CLOSER
AS DIRECTED AT PAGE 1.

F

PAGE

Q ASSEMBLE MAIN ARM TO CLOSER WITH
INDEX MARK ON SPINDLE ALIGNED WITH
AXIS OF ARM AS ILLUSTRATED BELOW.
ATTACH ARM WITH WASHER AND SCREW.

-

LEFT HAND DOOR

VIEW LOOKING UP
'WHEN ASSEMBLING
ARM TO SPINDLE

MAIN ARM
POSITION OF

ASSEMBLING
TO SPINDLE

INSTALL COVER AS FOLLOWS:

ALIGN COVER OPENINGS WITH THE CLOSER
SPINDLE, AND SNAP ENDS OF COVER INTO
POSITION OVER CLOSER

INSERT IS REMOVABLE
PLACE IN UNUSED OPENING

PAGE

4




